This question paper contams 4 prnted pages]

Your Roil No

5190

B.Sc. (Prog.) / II J
CS-201 - PROGRAMMING AND DATA
STRUCTURE
(New Course : Admissions of 2005 &
onwards)

Time : 3 Hours Maximom Marks : 75

(Write your Roll No on the top immediately on receipt of this
GuUestion paper )

All questions are compulsory

1 In the following C++ code segments find out the
errors There may be more than one error in each
segment 3+242
(a) class MyClass {

constant vl = 30,
const int v2 ,
int v3,
int &v4 |
public
MyClass (int n)
{
vi=n,
vd =v3,
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¢hy it hst|8), *p.

p = hst .
p=p*2.,
cout << *p

iy Hoat &tval |

12

(1)  What 15 the scope of private, protected and
public members in
(1) the same class
(1)  denved class
(i) the object of the class 6

(b) Define constructors for a class string that
accept the following - 6

(1) String S1 ( This 1s my new string™) .
(n) Stnng S2(345),
(1) Stnng S3 ,

{¢) List three types of hentance ? Give an
example of each 6

(d) How 1s polymorphism achieved at compile
time and run tme ? Explaig with
appropniate example 5

(¢}  What 1s the purpose of exception handhing
What type of exceptions can be handled by
this mechanism 7 5

3 Write vutput for the foilowing code segments 3 x 5= 15
(a)
man ()

{
int 4=100, b=200, ¢ ,
¢ ={a==1001b>200) .,
cout << ¢ << endl |
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{h}
miy = 10
vord f(vord)
{
mtv =465,
coul << "y =" << v <<end] ,
coul << v =¥ << v <<end] .,
mntv=10,
cout << 'y =" << v <<endl ,
cout << v =¥ << v <<end! ,
}
(c)
# include <lostream h>
# include <iomamp h>
marn { )
{
cout <<setprecision{4) <<18 269<<endl ,
cout<<’[ <<setw(5) <<setfill(‘# << 18<<’ ] <<end] ,
}
(d)
main ( }
{
enum status {low, medium, high} ,
enum status rain ,
ramn = {},
if (taun == low)
cout << rain << endl
}
(e)
matn { )

{

struct num

{
unsigned bitd 1,

unsigned bitl |,

5190 3 P.T.O.



4 {a)
th)
fe)
(d)
(e)
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unsigned bit2 1,
unsigned rest 5,
b
union a
{
struct pum n ,
charch,
}b,
beh=32,
cout <<bn.bitl<<bnbitl << bnbi2 <<
b n.rest << endl ,

}

Construct the binary expression tree for the
following expression.

(A+B)-(C+D) ForA=1,B=2,C=3,
D = 4 Rewrite the expression in postfix
notation and evaluate 1t using stacks

What 15 recursion 7 Write a recursive
program to calculate factorial of the given
number

What are the advantages and disadvantages
of representing a group of items—as an array
versus a linear linked list ?

What 1s a pnority quene ? Give an
application of priority queue Explain how
the insertion and deletion operations in a
priority queue are different from a normal
queue

Write an algonthm to search a number 1n
the sorted list using non recursive binary
search What 1s the complexity of algorithm ?
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